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The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS -
Q. No. 1 carries 1 mark each : 1x8= 8
Q. No. 2 carries 2 marks each ;. 2x5= 10
Q. No. 3 carries 3 marks each : 3x5= 15
Q. Nos. 4-10 carry 5 marks each ! 5x7 = 35

Q. Nos. 11-14 carry 8 marks each : 8x4 = 32

Total = 100
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(2)
1. Answer the following as directed : 1x8=8
wers AR’ ot Tes fox :
(a) 1 hectare = sq. metre.
(Fill in the blank)
1 23[ = ERIECE
(18 37 =7 1)
(b) 20% profit on SP = % profit on CP.
(Fill in the blank)
(6] T 89S 20% FATS = 1 7191 8 { % 1S |
(T 7R o[ )
(c) The curved surface area of a cone is
QBT XTI IR M A
(i) 2nrl
(i) 2nrh
(i) nr2h
(iv) mrl

(Choose the correct answer)

(v Toaco! Afo Bferean)

(d) y-coordinate of a point on x-axis is
(Fill in the blank)

X-9r%9 8oFe A 9O y-gHIe |

(1A 3% =79 F90)
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(3)

(e) All facts expressed are not statistics.
(Fill in the blank)

o9 o9 IR R e oy cif g 9=y |
(YA 31X °[ T91)

(/) What is a blank table?
Al eifere! 2

(g) Bar diagram is a ______ dimensional diagram.
(Fill in the blank)

wafog 2’9 IR foa 1
(Y14 31% 2/ 90)

(h) Write True or False :
%) (71 STy ol

loggaa =1

2. Answer the following questions : 2x5=10
SO PPTRA Ted o
(a) Simplify :
9o 941 .
{(2s5)2)~>8
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(4)
(b) For what value of k, will the point (k, O) be equidistant
from the points (a, 0) and (-5a, 0)?

A B MR IR (k, 0) RO (@, 0) WF (-5a, 0) R@ms <[
ST R’ ?

(c) Find the mean proportion of 50 and 128.

50 W 1283 %4 SAATe Sferen |

(d) The diameter and slant height of a right circular cone
are 70 cm and 35 cm respectively. Find its curved
surface area.

951 *FY IF ¥ f5fF Twel F@ 70 cm WF 35 cm T
PO ISP FIfE Refg F40 )

(e) Find the value of log, J6 +log, \/%

log, /6 +1log, J%?Wﬁ‘fﬂﬁl

3. Answer the following questions : 3x5=15
o ePPTRA TR A
(a) A retailer sells an article at a profit of 20% on SP.
If CP is ¥720, find the SP.
g5 Y1 RewFely (01 T e[ S 20% oS @ 961 Rt T3 |

Tfs e WY 720 591 W, (I3 (30! W Tfered |
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(5)

(b) Solve :
YN AT :
gx 1 _10
3* 3
Or / 7131

32 ,9-10.3%

(¢) Find the length of the longest rod that can be placed
in a room of 12 ft long, 9 ft broad and 8 ft high.

12 b %9e1, O b I29 WF 8 b Y (I01 «bre IR *[T 7=
TR T o o7 el 10 )

(d) Show that the points (-2,5), (0,1) and (2,-3) are
collinear.

Y& @, (-2, 5), (0, 1) W% (2, — 3) RYCFROT 4¢3 |

(e) The ratio between two numbers is 2:7. If each of
them is increased by 14, the ratio between the new
numbers obtained becomes 4:7. Find the original
numbers.

Yo SRYR SFATS 2 : 7. AR T_RYF 7S 14 I R IR 7oA
Y YO ST 4 7. o 31 701 Fefy 9
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(6)

4. Answer either (a) or (b) :

(@) 1 (b)3 T&] fax .

(a)

(b)

A trader allows his customers 5% discount on list
price. What would be the list price of an article
costing ¥712-50 to make a profit of 331%?

T QIR 2T TS [ $o[e 5% @2k fiew 133 1 % =1
iRt 712-50 b1 o1 @ior iRk 370 feam 232

Find the cost of flooring with square tiles of side
20 cm, each tile costs ¥25. The dimension of the
floor is 4 m x3 m and the cost of labour is 75% of
the cost of material. f e

4 mx3 m (W 939 Y&qS 20 cm AT IsPFey Biely =9

=S | Ao BiREm wiN 25 591 e RER 495 ANA [ 75%
27 Jo 396 e 34

5. Answer either (a) or (b) :

(@) ST (b) I T fimm

(@)

/447

Two mixtures A and B contain glycerine and water
in the ratio 4:5 and 3:2 respectively. How many
litres of B must be mixed with 81 litres of A that
the resulting mixture may contain equal quantity of
glycerine and water?

7o it A s B fanRa 9@ «A9 S e 4:5 9 3:2.

81 ol AX Tice Ram «fRmer B fizenca «on s famRa sie
AR TS A T2
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(7))

(b) A hemispherical bowl of radius 9 cm is full of water.
This water is to be filled in cylindrical bottles of
diameter 3 cm and height 4 cm. Find the number
of bottles required to fill the whole water of the bowl.

9 cm IPTHI BHCAMETRR *1@ BT =N 2ol 02 =" | 7 AR
3 cm IM 9F 4 cm Twel (A2 peigfed “ae St el
(ST *ITA] AT T ?

6. What are the limitations of statistics? 5)

“ff3icm e Siqaersz & 2
Or / &1

What are the characteriétics of statistical data?

*fRemRrPn sy (FRER 2

7. Find the ratio in which the line segment joining the points
(-4, 1) and (3, 5) is divided by y-axis. 5

(-4, 1) == (3, 5) Rpkaa™ @y y-wred [l & Sires e =,
Mefg w41 1

8. Prove that 5

NIIN A

4 9 5
L R R L
°83 79855 E2
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( 8)
9. If lo g—gg_—(logxﬂogy) then show that X+¥ =7,
X

y
Tlﬁlog-x;—y——(logxﬂogy), 3B (YT aXi¥-7
y x

Or / T3

The diameters of two cylinders are in the ratio 3:2 and
the ratio of their heights is 2:3. Find the ratio of their
volumes.

751 BfroRT IR SIS 3:2 WF TweR WS 2 : 3 | B e
Seeire ey w4

10. Write down any five essential characteristics of an ideal
questionnaire.

93 I 2erad R Iean Siob1 ecsAm et e |
Or / AT

Discuss the different sources of collecting secondary data.

AR ~rfEe o W3 R [ [fen Sopmza Ry Seemw-1 41 |

11. (a) Solve :
A F90 :
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(9)

(b) What is the difference between primary data and
secondary data? 4

T B HF (N SR &S N7 2
Or / %31

Discuss the different stages of statistical investigation.

AfIRIF SpPraEe Rfen TR SRen- 4 |

12. (@) What is classification? Name the four types of
classification. 4

T ¥ 2 vikRy IMe=em TR0 o |

(b) Discuss the importance of diagrams and graphs in
business and commerce. 4

[T-VETS (A1 T BAI Aol a1 1 |

A

13. (a) Draw a histogram of the following data : S
el OYPTRI A1 B WP <41 ¢
Class interval
10-15 | 1520 | 20-25 | 25-30 | 30-35
1) SFIrT
Frequency 30 55 80 60 45
NSS!

(b) Define frequency density and percentage frequency. 3

JRFIC! TG HF o5 IAK[RON 31 ua |
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( 10 )

14. The following are the weights (in kg) of a group of
55 students. Prepare a frequency distribution table taking
the width of each class interval as 10. Find also the
frequency density of each class interval :

55 & Qdd SHIY o (F.01.9) oo TrEy A Wer | ARSHr 9
A R8E 1008 Wi IRRR Ao ofas oge 341 | afstsr Isf
SR AR Tge Ay 9

Weights (in kg) :

s (. o) -
42 74 40 60 82 115 41 61 75 83 63
53 110 76 84 50 67 78 77 63 65 95
68 69 104 80 79 54 73 59 81 100 66

49 84 76 42 64 69 70 80 72 50 79
52 103 96 51 8 78 94 71 79 77 90

From the above table, calculate the following : 4+2+1+1=8
@Y I *f{1 Bere e e v

(a) Percentage of students whose weights are less than
80 kg

80 fF.:1.3 *[ 9 S I 1934 X

(b) Percentage of students whose weights are between
(76-105) kg

(76-105) .21, &3 T =154 W
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( 11 )

Or / 331

What is tabulation? What is the purpose of tabulation
of statistical data? Prepare a blank table showing
the distribution in two industries according to the
following characteristics : ' 2+2+4=8

ot 7 ARPIRPE Sy oFRRR Sren 2 16
o fSPM 3B CrERee were il GIFERTRE eoRe fofd
IR Q3 AN O 2 I

(i) Sex (M/F)
fors (o/3t=em)
(i) Marital status (married/unmarried)
e s (RaRer/wRkaifer)
(iii) Literate/Illiterate
Rt /SR

* Kk Kk
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